
 ا	��ود�ــــ�ت
  

  :1ا������


�� ا���ود����

ت ا��: 
 

( )2
2

P(x) 4x 2 4x

9 3 9 32 2Q(x) 1 2x 4 x 1x x
16 5 25 4

3 2K(x) x 1x x

4 2H(x) 12x x

= + + −

     
= − + − − +     
     

= − − +

= − −

 

( )

( ) ( )

25 52A(x) 15x 9 3x 7 x 3 5x 6x
4 2

2
2B(x) 3x 3 7 3 21xx

4C(x) 16x

5 4 3 2D(x) x 1x x x x

 
= − + + − − − + 

 

= − − −

= +

= + + + + +

 

  :2ا������

�ت ا��
��� Q(x)و  P(x)ه� ا���ود��
ن 

)� ��ا'& ؟ �$
و��
ن #" آ� !
��  � اا��: 

1( 5 3 5 2 5 2 3P(x) 2 4 x Q(x)  و   2 2 4 xx x x x x x x= + − + − + = + + + −. 

2( 
1 3 15 3 5 3P(x) 4 x Q(x)  و   2 2 4 xx x x x

21 3

 −
= + − + = + + −  +  

. 

3( ( )2 3 5 2 5 2 3P(x) 2 2x x Q(x)  و   2 2 4 xx x x x x x x= + − + − + = + + + +. 

4( 3 5 2 5 2 3P(x) 4 x Q(x)  و   2 2 4 xx x x x x x= − + − + = + + + −. 

   :3ا������

  ( ) ( ) ( )5 3 2P(x) a b b c 2a c 1x x x= − + + + − + 

  . /.� � �P(x)," -,�ن ا���ود��  cو  bو  a!�د ا+
�اد ا��*�*��  
   :4ا������

)P(x)  5!�د '
1" و 4
رج ا�*$�� ا+1)���� �ـ   Q(x) ���
�ت ا��
  :#" آ� !
��  � ا��

1( 5 3 2P(x) 2 4 x Q(x)  و   2 x 1x x x= + + − + = + 

2( 5 3 2P(x) 2 4 5 x Q(x)  و   2 x 1x x x= + + − + = + 

3( 4 3 2P(x) 2 4 x Q(x)  و   2 x 1x x x= − + − + = − 

4( 2P(x) 3 4x Q(x)  و   15 x 3x= + − = + 

5( 5 3P(x) 4 5 Q(x)  و   2 x 2x x= − + = −   

    :5ا������

3�.��6 ا���ود��  2P(x) 2 5x 6x x= + − − .  

 .P(x) � ���7 ��را �)��ود��  2و  (3-)و  (2-)و  1!�د  � '�� ا+
�اد  )1
Q(x)  9��'P(x)'�� أ�8 -��� !�ود��  )2 (x 2)Q(x)= −
 .، ;: !�ده

3(   
 .�Q(x)�ر �)��ود��  (3-)-<آ�  � أن   - أ

��   -  بP(x) ت
 .إ�5 ��اء !�ا��
P(x)ا����ا���  IR!� #"    -  ت 0≥.  

   :6ا������

3�.��6 ا���ود��  2P(x) 2 8x 4x x= − − + + .  
Q(x)  9��'P(x)'�� أ�B; ���- 8;�� ا���ود  )1 (x 2)Q(x)= +
 .، ;: !�ده

-<آ�  � أن  )2
1

2

 
− 
 

 .�Q(x)�ر �)��ود�� 

3(  Cأآ�P(x) ت

)D 5,� ��اء ���ا��. 

3اF�/�$G !)�ل ا��.
د��  )4 22 8x 4x x− − + = −  "#IR. 
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   :7ا������

)�.��6 ا���ود��  )
3 33 2P(x) 7 1 7 xx x

2 2

 
= + − + − −  

 
 .  

Q(x)  9��'P(x)'�� أ�B; ���- 8;�� ا���ود  (x 1)Q(x)= −
 .، ;: !�ده

 

    :8ا������

3�.��6 ا���ود��  2P(x) 2 5x 6x x= − − + .  

)-*�6 ا�*$�� 
)P(x)  5'�� أن ا���ود  )1 )x 1−. 


)D 5,� ��اء �����
ت P(x)أF�/�G آ�
'� �ـ  )2. 

3(  "# �!IR ا����ا��� :P(x) < 0 . 

 2x���Iض أن )4 2 10−− أ
��J>- Kا �).�د  >
P(x)

x 2+
  8�.G22 10

−×. 

   :9ا������

4�.��6 ا���ود��  3 2P(x) 5 3x 6x x x= − + + − − .  

1(  C$!أP(2)  وP(-1) ـ� B��.- F�/�Gا :;  P(x). 
2(  "# �! IR ا����ا��� :P(x) ≥  0. 

3(  "# �!IR
x²: ا��.
د�� + x x 5x 3 x 6 0− + + − − =. 

4(  "# �!IR د��
): ا��. ) ( ) ( ) ( )
4 3 2

x 2 x 2 5 x 2 3 x 2 6 0− − − − − + − + =. 

   :10ا������

  P(x) = 2x6 – 7x4 + 7x2 –2�.��6 ا���ود��  

1(  C$!أ( )P(1)  و  P 2. 

2( a "*�*! د�
و  N(-a)ن # �P(x)�را �ـ  a، '�� أ�8 إذا آ
ن ��M  /.�م 
1

a
 . �P(x)�ر�� �ـ 

 .إ�5 !�ا��
ت P(x)  اB��.- F�/�G �ـ )3
 

4(  "# �! IR ا����ا��� :P( x ) ≥  0. 

   :11ا������

3�.��6 ا���دود��  2
P(x) ax bx x 1= + + +  

  .��ر�� �PQR ا���ود�� 2و  1إذا 
)�O أن  bو  a!�د 
   :12ا������

  .P(2)=4و  P(1)=3و  P(-1)=4: ا��" -�*P(x) S!�د ;B;�� ا���ود 
    :13ا������

  P(x+1) – P(x) = x � ا��ر�� ا�7
��� '��P(x)     9!�د !�ود��  )1
 ����' F�/�Gا :;n ع��Uا�� S = 1+2+3+4+...+n                          

    P(x+1) – P(x) = x² � ا��ر�� ا�7
�P(x)  9��' �7!�د !�ود��  )2
 ����' F�/�Gا :;n ع��Uا�� S = 1+2²+3²+4²+...+n²                  

  P(x+1) – P(x) = x3 � ا��ر�� ا��ا'.� '��P(x)  9!�د !�ود��  )3
  ����' F�/�Gا :;n ع��Uا�� S = 1+23+33+43+...+n3                 
  :14ا������

): ا��" -�*P(x) S!�د ���V ا���ود�
ت   ) ( )x 8 P(2x) 8 x 1 P(x)− =   . ��دا در�� هPQ ا���ود�� −
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